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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________
 1
 
Critically assess the relative merits of the explanations of the mortality decline in Britain put forward by McKeown and by Szreter.



________________________________________________________________________

 2 
Were cultural factors a more crucial influence than economic developments on the changes in contraceptive behaviour that led to the fertility decline in Britain during the late nineteenth and early twentieth centuries?
________________________________________________________________________

 3 

In what ways was nuptiality central to population change in Britain in the seventeenth to nineteenth centuries?
________________________________________________________________________

 4 
  Are people who stay single or cohabit necessarily rejecting marriage?
________________________________________________________________________

 5 

Discuss the different explanations of homogamy and assess their implications for heterogamous couples.
________________________________________________________________________

 6 

To what extent do women in contemporary Britain control their own fertility histories?
________________________________________________________________________
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________________________________________________________________________

 7 

Is teenage pregnancy in contemporary Britain a ‘problem’ that can be resolved?
________________________________________________________________________

 8 
Do contemporary discussions tend to exaggerate the extent to which marriage and the family in Britain have changed and are changing?
________________________________________________________________________

 9 

Does the growth in significance of interventions into marriage reflect changes in the ways in which marriage is viewed?
________________________________________________________________________

10 
To what extent can different explanations of the same separation or divorce be complementary?
________________________________________________________________________

11 

Are the situations and experiences of formerly married people more heterogeneous than uniform?
________________________________________________________________________

12 
To what extent do stepfamilies experience a distinctive set of problems?

________________________________________________________________________

13 

To what extent is mortality and fertility-related change in less-developed countries following a common pattern?
________________________________________________________________________

14 

Can the success of national population policies only be guaranteed by coercion?
________________________________________________________________________

15 

Is internal migration in contemporary Britain as much a social and life-course-related phenomenon as it is an economic one?
________________________________________________________________________

16 

How easy would it be to reduce mortality from suicide and lung cancer in contemporary Britain?
________________________________________________________________________

17 

How substantial are the challenges posed by Britain’s ageing population?
________________________________________________________________________
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